


Exercise on value of natural resources and risk
1. Suppose a gold mine will produce same amount of gold every year for fifty years. This year’s output is worth 10 million dollars. If we assume the real value of gold is the same in the future, what is the present value of all the gold produced from the gold mine? Assume risk free rate is 6% per annum and risk premium 8% in discounting. 
2. In recent years, commodity prices have appreciated a lot. If we assume gold price will appreciate 10% every year in the next fifty years, what is the present value of all the gold produced from the gold mine? Other conditions are the same as in problem 1. 
3. In our current practice, government debts, especially USD dollar based government debts are treated risk free and discounted at lowest rates among all securities. However, in an age of scarcity of natural resources, commodities may be regarded safer investment than paper currencies. If gold is regarded as a risk free investment and discounted at 6%, what is the present value of all the gold produced from the gold mine? Other conditions are the same as in problem 1. What conclusion one can get comparing the result with that in question 1? 
[image: image1.emf]0

100

200

300

400

500

600

700

2000 2000 2000.1 2000.1 2001 2001 2001.1 2001.1 2002 2002 2002.1 2002.1 2003 2003 2003.1 2003.1 2004 2004 2004.1 2004.1 2005 2005 2005.1 2005.1 2006 2006 2006.1 2006.1 2007


 Gold price since 2000, dollars per ounce. 
